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ma Assignment —

Complete pgs. 389-390
Questions 4, 5ade, and 11
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m Solutions =-—,eeeeeee——

L‘f Solve each absclute value eq_rg'l'fon
G\'Se b’(‘GfCCxHH ..'Uert'ﬂj jtjour'\Solu rons.

ol lxsl=12 F{t’z Jx47) ={x+’! X 2-1
‘:)L:_‘h : 'CH‘.')]) ~<="1

Case .
X+1T=12
= 12.-1]
A=5
*. X=5 _satisfies the condition X2-17.
_.CQSE 2_;__
—(XED=12,
g 4] = =L,
i Al I Fadil |
X = -19

% X=-19 salisfies the condihon x<-1.

BUax-41+6=T7  (3cu=0 ( 18x-ul={ 3x4, x2 Y5
IGal=15 ) =yt ~(@x-4), X< Y
[3%x-M=2 ¥ 30 B
X=4_§
| -
Gased
BN =2,
3x=Q+Y

s
X=9

%  X=2 Sathisfies the condition xX2Y4/3.

-easel
~Qx-M)=9
XM =-2
Bx=-0+M
-3
g
=%

% X=3/; Satisfies the condition x< /3.
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Solutions -——e———

Q) Il xX+6|+12=-4

Dix+el=-Y-12
LIxrel=-16
2 2
1X+6l=-8 *Wecan step here &

L Singe +he absclute value of a number
's always greater +han or equal+0 O,
This equation has no golution.

g N

d) -6l Ox-1d1=-42, $Ox19=0 § | 2x-141={2x-14, x27
-G "o ) =14 =(2%-14), %<
|2%=14] =7 Z 3¢

X="1 il

S

Cose L

D=1 =1
Ox="1+1Y4
Fx =\

2 Q
= ikl
2

* XK= /sy Satisfies the condition X217
Cose2s.

-(2%-14)="1
Dx-14 ="]
DX =""1+1Y4
P % A
Z. v !

x= 1 ¥ X=7T/; satisfies the condition X<7.
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m Solutions -—b————————

5. olve each e%uqﬁ'on ‘

a)l2a+1l=a-y EQ,C\ +1=0 | 20+7]= 720.—\~7,,,Q,.§.,,‘7/i |
%@.s =21 | ~Qax7),a<-7),

Cased

Jda+1=a-N
2a0-a=-4-T1
Q = --! [ '
¥ a=-1l does not sahsfy i o} (Ex t'ruqccuus}

Sose 2

~(2a+N=a-N
-2a-1=.q0-Y4
=2a=0=~4 +7]
- C\= _3_
= it
a=-1 .
% a=-1 does not 6&-\-{5‘10\1 a<=1/5 C Em“mnccu-s)

No SohuTToN !
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Solutions =-—,sssee—
) 18%+31=2%-5 (3ar3=0 | 18%+31=§3xx3, x2-1
FA=13, | =Gx+3), x<-1

Lased.
Ix+3=Ox-5

== o
% X=-8 does no+ 60.']1'{8‘5:3 x2-1 ( @c%m:\eoua)

-(3X+3) =I%-F
“3X-3=d%x~D

¥ X=2/x does not SCH\-I'S“FU e =4 K EermrLti:cuSJ
NO SORUTTON !
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ma  Solutions e———

3120+71=3CaH)|  2q=71, "(2(:\1-‘1))(:1-:-7/2
3 3 { =z 2
S
Cose A
La+T=a+Y4
2a-a= 4=
a=-3
% a=-3, Satisfies the condition a2-71/,
Case
-QRa+1)=a+Yy
-20-17= Q+N
~dn -0 = *\-l‘+‘1
..g e
a=-1L
3

* Q=-1if, satisfies the condition a<-1/,.
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m Solutions -—b————————

Yy

1. When measurements are made in Science,
there (s Always a degree of error possible-
'Absolute error 'S ¥he uncertainty of Q

measurement: Forexample, 1 themass ofan
object is Knownto be 1259 , butt+he

absclute error IS said 4o be i‘-{g,ﬁ—hen
Hhe measurement could be as htgh as
1299 and oS low as \2\8-

a) LI F +he mass of a substance IS Measured
once as Mg and once o8 699, and the

absolute €rror 1S ¥ 2.5q, Wwhat s the
actual mass of +he substance ?

“The octual mass of +he substance
S ©65g. 1EM+TIS or =95

b) T +he volume of a llquid s measured
+o be Os8m! with an absolute error
ofF T 1ml, what are +he least and

@rea-\*es-% possible measures of The
oclume?

= ‘\r{e least possible measure for the
olume (s d5\mi§ 958-T}

= "The greatest measure for +he volume
S Q65 ml {@58+7}.
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